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A. REZRE : &EiRa

© Q EEEREREERERRA ?

A: FrEXREHAKERE !
{511 2019 Q5 — Do you prefer traditional print media or social media?

=> HAREFHER, s
= > REBIEH IR TP SORE RS et E BT AR, -

fRT “because” :Z2H HMAE A~

1. because / as

g ;| 1. Because there was no evidence, the case was dismissed.

2. Some youngsters smoke as they need to relieve their stress.

A% |- ®#EHIR (R /ZEGF)
-  OJPIW (B8R / )
« OYH“REE.. L. ZHIBER—OGF, BRI “because” F “so”

HBE ¥ — A because TLE A so

2. since / seeing that

%18 : | 1. Since the next train comes an hour later, we may have a quick lunch.

2. The medical staff decided to perform an operation seeing that the child was in

danger.

B%: |- BTEB,BAE  WER
. BER (85 %2287
. TLUK (BFE/ D)
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3. because of / in view of / owing to / on account of / in (the) light of

%18 : | 1. Because of the coronavirus outbreak, unemployment rate has climbed to its

highest level.

2. The president declined to deliver the speech himself on account of a sore

throat.

&
DH.

BHEIR (R5 / Se2aF)

o] UM (88 / 55)
BX Y because of, HERAEAR writing

4. as a result of / as a consequence of

%19 : | 1. Asaresult of the scandal, her reputation was damaged.
2. Many seabirds died as a consequence of the oil spill.
x| BERARKRE
- EBER (B /5TETF)
- o] (B8R / 99)
5. thanks to

%149 : | 1. Thanks to international aid, the town had been supplied with food for several

months.

2. The baby is awake thanks to your loud shouting.

A | O=xR#E , ol AZRIR
« BHIR (&5 / STEET)
« oD (988 99)
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6. out of
%18 : | 1. Out of anger, | tore the document into pieces and threw it into the litter bin.
2. | gave the beggar a few coins out of pity.
& BR:__  EHEIREHE/ZEIT)
« OB (28R / E9)
- BRTERZE BREEREIIRER, A
7. due to

%18 : | 1. The serious accident was due to his careless driving.

2. The financial crisis was due to the spread of the disease.

FA |« EE : due EW2E 5, IR because of WAAA[E !
e.g. The meeting was canceled due to the storm.

e.g. The cancellation of the meeting was due to the storm.

8. on (the) grounds of

%149 : | 1. Employees should never be discriminated on grounds of age and sex.

HH

BxE: |- BE
. éﬁﬁﬁ(%ﬂ/ SSEOF), BRWN (YR / g)

C

9. on the grounds that

%08 : | 1. He declined the invitation on the grounds that he hadn’t finished his work.

RE: |- BR:
- RHIR (R / TEGT), BEN (FE/ 9D)
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I-il; INGRES
PR3t R ARV R

M aEE/ a4 because as since BE%A
seeing that BX#A because of in view of
owing to on account of in (the) light of

as a result of (B H) as a consequence of (8H) | © thanks to (EX#l/E &)

out of B}

g duet on (the) grounds of on (the) grounds that
ue to
L. 5BEH L. RIEH

IR noun / noun phrase
IRCETF

Bo %( Ln\ﬂ% L KEE.
A ERTERIIER “RAE”, o LUBGFIRR “FrI”

= newspapers contain words only, it is more difficult to convey information.

\MA

= Newspapers contain words only. , it is more difficult to convey information.

E#HERNaFAEmEEEACUA B

%148) : | 1. 1 have never been to Spain, so | know very little about it.

FOR |« RHEIR (R EBaT)
- ol (588 99)
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2. Therefore, / As a result, / Accordingly, / Consequently

%18 : | 1. Native and non-native speakers have different needs. Therefore, schools offer
different classes for them.

2. He was exhausted after a day of work. Accordingly, he headed home at once.
A : |« #BEIR(RHE/5TEGF)

o] PARY (5188 / E5)

Therefore 1 As a result Z o] LIS A -
J;®8) => It was scorching hot today. We stayed at home all day.
ol 1 => It was scorching hot today. Therefore, we stayed at home all day.

ol 2 => It was scorching hot today we stayed at

home all day.

3. As a conseguence

#l5) | 1. He took too many loans. As a consequence, he went bankrupt.
RZE: |« BR:

- BHEIR (R / 2 GF)

- OB (B8R / 99)

4. That’s (the reason) why

%l4a

1.

He is always ill-tempered. That’s why he can never get along with others.

%

BHEIR (%5 / 522G F)
o] AR (288 / 59)

EE#R informal
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5. thus

%49 :

FB;% 1 : 5+ F58 (IR Therefore, FB/A—%1%)

It is a waste of time waiting in line for tickets. | choose to book online.

FB % 2 : | thus (2 EER Verb-ing)

The colleges have expanded more students the chance of

higher education.

FE)% 3 : and thus (R E B E IR0 F3E50)

He sold his farm he had enough money.

He sold his farm had enough money.

6. hence

%l4a :

FB'% 1 : 5)FF58 (IR Therefore, FB/A—%1%)

The music was too loud. I couldn’t hear what she was saying.

F3;% 2 : , hence (R , so F/A—1)

The music was too loud I couldn’t hear what she was saying.

Fi’% 3 : and hence (F179=)

The necklace is and hence

They the café and hence more customers.

The necklace is handmade and hence it is expensive.

FB)% 4 : | hence (B3R HE5, BEE “FIUABME”)

Hong Kong is famous for its night view, hence the name “Pearl of the Orient”.

They grew up in Japan, hence

She successfully got the job, hence

All rights reserved by Learning Point Education (Asia) Company Limited, except that all 7
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\J
= 4E 4 - -
Ij AL REF 4% Bl A%
PRIMAERAVES
R aIEE Therefore, As a result, Accordingly,
That is (the reason) why
Consequently, As a consequence, .
EMNEREE
Hgadg so
M aEE/ a4 thus hence

C. Exercise 1: Sentence Rewriting

Rewrite the following sentences using the words in the bracket.

1. The trip was cancelled. There was a torrential rain. (on account of)

2.  There was poor sanitation in the village. Many people got infected. (therefore)

3. His condition was stable, so he was discharged from the hospital. (because of)

4.  Regular exercise strengthens the heart. It reduces the risk of heart attack. (, thus)

5. I fell off my bike several times. | had got these bruises. (, hence)

6. Because of his tight schedule, he was unlikely to come. (seeing that)

7. The poor man applied for the subsidy and so he could afford the rent. (that’s why)

8.  The water quality is deteriorating, and the lives of sea animals are threatened. (as a result of)

All rights reserved by Learning Point Education (Asia) Company Limited, except that all 8
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D. Exercise 2: Sentence Rewriting

F 2R

Rewrite the following sentences using the words in the bracket.

1.

2.

3.

4.

5.

6.

In order to know about why he decided to do that, she asked him. (out of)
W=
Zaak:

Their performance wasn’t smooth. They lacked preparation time. (as a result)

e

F3 as a result of I{ & :

Having health issues, she resigned from her post. (on the grounds of)
WA
Fg on the grounds that £ %3

I was unable to sleep. The noise upstairs was too loud. (thanks to)
W
F due to X E:

The law was abolished as it was outdated. (and hence)
WE:
#aa1k:

He was kept under surveillance. He might be associated with drug dealers. (on account of)
WE:
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E. B85 0F418 . Nominalization 2511t

- EEBRAEAMBRIAIG, EMB—ORSEH?
5% | She failed, which made her parents Her failure caused her parents’
1 disappointed. disappointment.
- They are unable to address the Their inability to address the
I
2 poverty problem, which makes the poverty problem has provoked
public angry. huge public anger.

- SEEF A E R FIERAU Nominalization (& 51E)
- FHRFANEE: (1) ¥ formal & professional
2) BEREMIFEENER A

noun (&) noun phrase (&S
1. house 1. awooden house painted in red
2. qualification 2. The basic qualifications listed on the
website l
head noun (/0 & 5)

() () ) ()
AV AV Y/ A
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F. MR HE

E =AY Noun Phrases

Determiners: BUSR: Head Noun Bas:
« a/an/the « Adjectives » Preposition
« this / that Noun « Relative clause
 her/Jane’s « Verb (ed) « Verb (ed)
« six/few/many | - Verb (ing) « Verb (ing)
the primary cause of teen smoking
. who oppose
most primary school teachers changing the system
a healthier lifestyle that mcludgs regular
exercise
his deteriorating health caused by online
mental abuse
that well-trained bird standing on his
shoulder
Bl 1
B8 YouTube 2R EEFBFEE E 7 RE M
These demonstrations are essential for a better understanding of products.
(‘&)
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B+ 2

BR: ERIUGTRS NFREERE

The government should provide assistance to help the poor.

(&saME)

5+ 3 — 2016 Sample Level 3

0 be, })rm@, to Fae

,ary‘ﬂl\wﬂ ) %‘Hﬂ@n YO, Wil peor From,
ess . Jhank Yo, .

(&&aME)

5+ 4 — 2015 Sample Level 3

H\UW|WWI'/ .

ln Oonolugwn ) M ‘P&/{ tired bmér‘t because ‘M'
therr de@p “Hime, ot evwwak "ol i 9 00 om Gtart to the
cohool day will &5 solve, the problem effective . At st .

(&&ME)
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G. Exercise 3: Noun Phrase Sentence Rewriting

Rewrite the following sentences with noun phrases.

R A4S
1. Mum encouraged me and | felt more confident. * Theyshould do...
* They will do...
* ..because they are

2. Asian singers are becoming more and more popular.

3. If you eat unhealthy food and do not exercise, you will suffer from a lot of illnesses.

4.  We were grateful to the local people because they are generous and hospitable.

5. People feel discontented about the policy. It has just been implemented.

6. Many employees resign because they have to work long hours in the company.

7. The government and parents must work together to make education better.

8.  The government should completely ban smoking.

9. These are why | believe we should increase the number of P.E. lessons.

10. They block off air flow and affect air ventilation. These cause the “wall effect”.

All rights reserved by Learning Point Education (Asia) Company Limited, except that all 13
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H. DSP Sentence Structure

1. A big magnet for (n.) I&5|

%19): Blogging is a big magnet for people from all walks of life.

B ERIE © magnetic to / attractive to /seductive to

H Example 1:
Advertising campaigns make alcohol magnetic to young people.

H Example 2:
Bright colours are attractive to children.

B Example 3:
Brazil has also been for American industrial

investment.

2. Monotonous (adj.) ERZ KT / E/EEMW

%18): The content of most blogs nowadays concerns monotonous stuff.
SINEE ¢ tedious /dreary / boring

H Example 1:
It’s monotonous work, like most factory jobs.

B Example 2:
The job is tedious, but the pay is good.

H Example 3:
The music became after a while.

All rights reserved by Learning Point Education (Asia) Company Limited, except that all
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Learning Point HK — Regular Course Volume 2 — Writing Part B

3. Obsession with (n.) B8 / ;&5 R A =58

Bll5): Once you get hooked on blogging, you won’t be able to overcome

your obsession with it.
SINEIE: infatuation with / preoccupation with /addiction to

B Example 1:
Fitness has become an obsession with him.

B Example 2:
The management’s preoccupation with costs and profits resulted in a

drop in quality and customer service.

H Example 3:
He has never conquered his smoking.

4. Extricate from (v.) 15E0R / IREE / BZHL

%18): Obsession bloggers find it hard to extricate themselves from the
habit.
SINRIE - disentangle from / get away from

B Example 1:
It took hours to extricate the car from the sand.

B Example 2:
He had managed to extricate himself from most of his official duties.

H Example 3:
In the public sector, resource management considerations are usually

much more difficult to policy.

All rights reserved by Learning Point Education (Asia) Company Limited, except that all
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5. Entangled (v.) #EA / {1

%19 The country is entangled in an economic crisis.
SINEE - embroiled / involved

H Example1:
The bird entangled itself in the net.

B Example 2:
Sara had got entangled with some political group.

H Example 3:
He became in a dispute with his neighbours.

6. Perennial (adj.) REATFTERY

%149): | was irritated by his perennial complaints.

SINEE - perpetual / everlasting / constant / repeated

B Example 1:
Lack of resources has been a perennial problem since the beginning.

B Example 2:
Colonialism in different forms is a perennial theme of history.

B Example 3:
Heisona search for truth.

All rights reserved by Learning Point Education (Asia) Company Limited, except that all
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7. Mirrors (v.) [z

fBle): His behaviour mirrors his attitude to work/
BINESE ¢ reflects

H Example1:
Our newspaper aims to mirror the opinions of ordinary people.

B Example 2:
Her on-screen romances seem to mirror her experiences in her

private life.

H Example 3:
Does this letter how you really think?

8. Reflect (v.) EE / R ERE®E

#l9): The should reflect on the needs of the people.
SINEE - ponder / meditate / think about / consider

B Example 1:
We intend to ponder all the alternatives before acting.

B Example 2:
Scientists still ponder over the origin of man.

B Example 3:
The manager demanded time to on what to do.

All rights reserved by Learning Point Education (Asia) Company Limited, except that all
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9. All things considered #EM=S

%19 : | think the party was great, all things considered - | mean we
didn't have much time to get ready, but it still went well.
SINEIE - All things said and done

B Example 1:
All things considered, this is a most exciting life and one which very

few people would trade to go back to their former routine.

B Example 2:
All things considered, it looks like LG’s new advertising campaign

should successfully build their brand.

H Example 3:
, | decided to major in business administration.

10. On the one hand...on the other hand
—FH..£5—FH

%18): On the one hand, it brings us much convenience; on the other hand,

It causes many problems.

B Example 1:
On the one hand, they'd love to have kids, but on the other hand, they

don't want to give up their freedom.

B Example 2:
On the one hand I'd like a job which pays more, but on the other hand, |

enjoy the work I'm doing at the moment.

H Example 3:
, if the body doesn't have enough cholesterol, we

would not be able to survive. , if the body has too
much cholesterol, the excess begins to line the arteries.
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